LECTuRE ' '
LeowespAy Maray 1/



CC Construction: goto

ALGORITHM: goto
INPUT: a set S of LR(1) items, a symbol X
OUTPUT: a set of LR(1) items

PROCEDURE :
moved := &

for iteme s

if jtem ='—E — B elxd, all then
moved := moved U{ [a — Ax)es, a] }
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CC Construction: goto

1 Goal — List
2 List — List Pair

3 | Pair
4 IPair — ( Pair )

A 4 FIIZ&“(G&D f>§ ¢

4
Calculat@(g@_, @ [“next state” from ccy taking ( d

ALGORITHM: goto
INPUT: a set S of LR(1) items, a symbol@
OUTPUT: a set of LR(1) items .
PROCEDURE:
moved := &

for

J)
:.f<tem> [ > Be a] then

moved [a —> BM9S, a] }
end
return <closura( moved )
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CC Construction: Algorithm

1§ ALGORITHM:

2 INPUT: a grammar G=(V, X, R, S),

3 OUTPUT:

4 | (1) a set\CCE {ccy,ccq,...,cCn} where cC;c G's LR(1) items
5 —>(2) a transitiopn fupction

6

7

8

9 processed :

10 lastCC

11 | [while @stcc +CO :

12 lastCC__:= /‘A
13 for(cc) s.t. ccje CC A cc; ¢ processed: [\[

14 processed 1= processed w{ee T

15 fo : CC;

16 , el

17 |, mp{'CU then Lot

18 := CCu {temp}

®h== su(ec, @ temp)




CC Construction: Algorithm

1 Goal — List
2 List — List Pair

e Calculate CC = {ccy, ccy, ..., CC11}
e Calculate the transition function 6 : CC x ¥ — CC



CC Construction: Algorithm
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CC Construction: Algorithm

[Goal — e List, eof]  [List— e List Pair, eof]  [List— e List Pair, (| [Goal — List e, e0f]  [List — List e Pair, eof] [List — List e Pair, (]
CCo =1 [List— e Pair, eof] [List — e Pair, (] [Pair — e ( Pair ), eof] ccy = { [Pair — e ( Pair ), eof] [Pair — e ( Pair ), (] [Pair — o (), eof]
[Pair — e ( Pair ),(] [Pair— e ( ), eof] [Pair — o ( ),(] [Pair — o (), (]
CCy = {[Lls[ — Pair e, eof] [Lis[ — Fair e, (]} P [Pair — e ( Pair ), )] [Pair — ( e Pair ), eof] [Pair — ( e Pair ), (]
= = [Pair — e (),)] [Pair — (o). eof] [Pair — (o), (]
CCy = I[List—> List Pair e, eof] [List — List Pair e, L]] CCs5 = {[Pair—> ( Paire ), eof] [Pair — ( Paire ), L]}

:[Pair—> e ( Fair),)] [Pair — ( e Pair ), l]}
CCq =

[Pair — o (), )] [Pair — (), )]

@ —. )
)

ccy = {[Pair—>£lo, eof] [Pair— () e, g}

= —
{cq: Pair ) ( Pair Jf)eof] ipairi.,gﬂ CCo [Pair ( Paire )

—
 A—

CC1o = {[Pair = () e, )] CCi1 = {[Pazr—> ( Pair ) e,



Table Construction: Algorithm

1 | ALGORITHM: BuildActionGotoTables

2 INPUT:

3 (1) a grammar G=(V, ¥, R, S)

4 (2) goal production S— S’

5 (3) a canonical collection CC = {ccg,cCCq,...,CCn}
6 (4) a transition function 6 :CCxX — CC

7 OUTPUT: Action Table & Goto Table

8 | PROCEDURE:

9 | for cgecc; ""7 le € ((a
10 for item eé? ‘
11 if jtem A—»j @y, a]\ ause/\é@z =@ then
12 Action[i, x]™:

13 elseif item = [A—> a] then

14 Action[i, a] := uce A— S

15 elseif item= [§)— , eof] then

16 Action[i, eof| := accept

17 end ay

18 for veV: ¢af  wnaop

19 if §(cci, V) = CCj then

20 Goto[i, v] =j

21 end
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Acts/ 7
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|
o [Stmt — if expr then Stmr e ,{eof,else}],
= [Stmt — if expr then Stmt e else Stmt{eof e]se}]
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